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Question No. 1

3T HY oA |

AT B)7eT

c)ad D)W

Find the ODD one out.

A)Bangle B)Moon

C)Earth D)Football

Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3210134801&qwer=1)

Question No. 2
IR 2x+9=x2+p=8x+ 3§ a 'p F A AT HI
A)11 B)6
C)10 D)14

If 2x + 9 = x2 + p = 8x + 3, then find the value of 'p'.

A)11 B)6
C)10 D)14
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 2) (objection.aspx?qwr=3210134801&qwer=2)

Question No. 3
@ T U FYI 58, 52, 46, 40, 34, (.)

A)32 B)28
C)30 D)26

Complete the series. 58, 52, 46, 40, 34, (...)
A)32 B)28
C)30 D)26

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=3210134801&qwer=3)



Question No. 4

FHARIT IR A AT YOI F AT 1284 §1 Wa@ 937 i 1 A
A)324 B)320
C)322 D)326

The sum of four consecutive even integers is 1284. Find the largest integer.

A)324 B)320
C)322 D)326
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 4) (objection.aspx?qwr=32101348018&qwer=4)

Question No. 5
frfaf@a # ¥ slaar awEsy 9 & 3E® aF w©r
Ayufagr B)grelT
C)a=T D)ITSghe

S

Which empire lasted the longest among the following?

A)The Pratiharas B)The Palas
C)The Senas D)The Rashtrakutas
Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3210134801&qwer=5)

Question No. 6
TH HAT fr dag 12 e 3k dlsg 8 X B IR dEg @ 4 F&AX Tor RAr Srar g, o 9l
1 gelr AIfed arfh T T T SAGA g AT F ATBA $ SNIeR ar?
A)6 TEHY B)5 #érex
C)4 déHex D)7 d&#HX

The length of a rectangle is 12 cm and the width is 8 cm. If the length is greater by 4 cm, what should the
width be so that the new rectangle has the same area as the first one?

A)6 cm B)5 cm
C)4 cm D)7 cm
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 6) (objection.aspx?qwr=3210134801&qwer=6)

Question No. 7



ST AT TE ATFCT R TR AT AT F [T HIST AT g A7 R AT FoAR, FoAw 2

T 2T 27

| |S| &

c. |1 D. |55 § FI5 al

When the given figure is folded to form a cube then which face is
opposite to the face with 27

4
116
3
512
A 4 B 3
C. 1 D. |None of these

Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=3210134801&qwer=7)

Question No. 8



83
108
T4
38
98

a

02.5 D. 952

Study the following table and answer the question given below it.
The following table represents the expenditure of a company (in lakhs)
over the given years.

Item of Expenditure
Salary | Fuel & Transport | Bonus | Interest on loans | Taxes
2014 288 98 3.00 234 83
2015 342 112 2.52 32.5 108
2016 324 101 3.84 41.6 74
2017 336 133 3.68 36.4 88
2018 420 142 3.96 49.4 98

What is the average expenditure on taxes per year in which the company
had to pay during the given period?

A 34.5 B. (902
C. 92.5 D. 952
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 8) (objection.aspx?qwr=3210134801&qwer=8)

Question No. 9



& fAffad I W 5% ufday fr @ & 2 a¥ & fAv FruRer s 3R wHgfy Swe & @ AT €.11.25 @
TR gar H

A)¥.4200 B)%.4500

C)¥.4800 D)%.3800

The difference between the Simple Interest and Compound Interest for 2 years on a certain sum at the rate of
5% per annum is Rs.11.25. Find the sum.

A)Rs.4200 B)Rs.4500
C)Rs.4800 D)Rs.3800
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3210134801&qwer=9)

Question No. 10
Ife 'GARDEN' # '325764' & &7 # 3K 'WATER' # '92165' & &7 # Feag far Smar §, o 3¢ smor &
'WARDEN' $§ Feag far sream?
A)925764 B)957264
C)295764 D)952764

If 'GARDEN' is coded as 325764 and 'WATER' is coded as 92165, then how would 'WARDEN' be coded in
the same language?

A)925764 B)957264
C)295764 D)952764
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 10) (objection.aspx?qwr=3210134801&qwer=10)

Question No. 11
T SEst F e 21 ¥ AR et Hear gEd wew & Qe ¥ 3 qE dear e e & ARt &, o
Tgell HE&AT AT RS
A)27 B)18
C)36 D)24

The average of three numbers is 21. If the first number is double the second number and the second number
is double the third number, find the first number.

A)27 B)18
C)36 D)24
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3210134801&qwer=11)

Question No. 12



AT 4% 27 5.{6+2(7-85 )|

A 18 B. |27
C 36 D. |45
Simplify: 27 5-{6+2(7-33)}
A 18 B. |27
C 36 D. |45
Answer Key: C  Your Response : A (Wrong) Raise Objection(Question No. 12) (objection.aspx?qwr=3210134801&qwer=12)

Question No. 13



39 W F A FyaT RU v § 3uF a1 o st §| 3w ARt A g S 9% F WUR W e 39gEd @
FYa: 1) Tl Tigew oarg €1 2) P oo Gz A ¥ Aswd: | W Fag aezw § 1 P s wms A
gl

A)hadl TSy | drefleT HT g B)arsi sy | 31X || areleT & &l

C)had shy |l IreleT & B D)aT ar fashy | 3R & & Il grefeT e B

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) All sides are lengths. 2) No length is breadth. Conclusions: I. All lengths are
sides. Il. No breadth is side.

A)Only conclusion | follows B)Both conclusions | and Il follow
C)Only conclusion Il follows D)Neither conclusion | nor Il follows
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3210134801&qwer=13)

Question No. 14
T 35 WfeT AT F qur 3N el T Iequrd ¥ 4 ;11 IR Bsor F afaRea 7 ohex gl Ber R sme, o
39 groe T F g 3R ol & requre @ gar el
A)5 1 B)2 : 1
C)6 : 1 D)1 :5

In a mixture of 35 litres, the ratio of milk and water is 4 : 1. If another 7 litres of water is added to the mixture,
find the ratio of milk and water in the resulting mixture.

A)5 : 1 B)2: 1
C)6: 1 D)1:5
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 14) (objection.aspx?qwr=3210134801&qwer=14)

Question No. 15
AR TS FEHT f gUa Afger reTem Sl o2
AT ST B)zad & P15 Ahed gl
C)GAdT Fuelair D)ERIfSA =g

Who was the first woman President of the Indian National Congress?

A)Annie Besant B)None of the options
C)Sucheta Kriplani D)Sarojini Naidu
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 15) (objection.aspx?qwr=3210134801&qwer=15)

Question No. 16



39 e q T =FFT ST AT L B A HAH A= ATTEAT T FAAT @ HATH

7997 % XY % AT 7= ST gl
X
Y
A. B

C. _| D.|_|

Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

X
I
Y
A B
C. | | D. | |
Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 16) (objection.aspx?qwr=3210134801&qwer=16)

Question No. 17

A # e fArfaf@a F & fFas qarr aREwor & e sl fre o g2



A)faeg § B)RBI
C)IMF D)SEBI

Through which of the following are the coins issued for circulation in India?

A)World Bank B)RBI
C)IMF D)SEBI
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 17) (objection.aspx?qwr=3210134801&qwer=17)

Question No. 18

A H TF =Y & fov ufag Bl
AT & 3cdTesT B)sTH 3T
C)FR e D)IT & IcdGeT

Barak valley in Assam is famous for-

A)Paddy cultivation B)Bamboo industry
C)Cottage industry D)Tea cultivation
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 18) (objection.aspx?qwr=3210134801&qwer=18)

Question No. 19

A Re v we F v oRFRUT & ¢ 3R 30D 39 Ay R & a¥ & vy o & v Fer mr 81 &
A$ TR F IHUR W 3R Fofl FKC 47 U Aeelel RAUK i A7 § H{a§ a7 & v e afdiete ¢
FKC 98 & 1000 ¥ 3fts wK §, S fJeaa: R 7 §, St gar$ arsst, o ®evmt 3K A dar &6f F
451 gaer 3m3eae AR 627 718 The WK wffAd §| FKC 90 r@art, afysmsif, qeas, wuwedr sk seaew
3erel #r faeqe S@er duar §; 3w ST wedg #F 7 R U 8.30 a9 ¥ AT 5.30 FoF & AT Ger @t
fl Rew 3w & &7 & 30 I3M0s & I30& A F@ § QT 3] H ToHd 7 9w go
IETYRCT e Fal Jeid A & AT R §1 3T 787 &7 & a8 919 F [T TS § FH W &
quf, T F @l Tl vhed &9 F T F F W § IR sAfAT R ¢ &R A 3T gost F Fww
FET T HERISAT FIell §| FAIGAR HT g TN 3T 7 Th Tl SAR 4 i 3o § T W ¢
e 11 T 9 @ BT O 3F o & AT Rl @us § o7 W 1 §, TS § Iora w9, T 3@ §
& agi A AfUF IcHaEn §l S B W AR g 9l 93 & AR W § 3R 3T 3cne aend
A F @ €1

AT dF Wit & gRd w & @us #B)E §% o AR e S @ag s gfq aeqe
TEICNROT I AR FS FHEAV & 3rcaafeud fAel ar 3¢ AgT 8 O

C)319= @Us & a9y ST 3R 30a & MY & qF FD)FT o | FHad: Ig o RN a7 AT &
TAAN FH A A & v Far gt 10 a1 15 fag=or & § 3R a8 589 o [@Aue oem| I e
e & fAv BIsT S @har ¥ ARG 98 WA GiaT 8, S Hehel & o vl & o 890 & o regaedr § 3R
8T F STeal ¥ TATH el & 0T TAAT & olisX 31T fhar At &7 Iea@ X AT SH &l dgooid
B TERIAT T YARA Y 3T 39T & 96 11.30 o 7T FT A8

ol



The question given below presents a situation and asks you to make a judgment regarding that particular
circumstance. Choose an answer based on the given information. You are a Retail Assistant working in the
Mumbai branch of FKC pens, a national stationer’s chain. FKC pens has over 1000 stores, primarily in India,
including 451 travel outlets at airports, train stations and motorway service areas and 627 high street stores.
FKC pens sells a wide range of newspapers, magazines, books, stationery and impulse products; most
branches are open 7 days a week between 8.30 a.m. and 5.30 p.m. As a retail assistant, you are responsible
for providing exceptional customer service while demonstrating product knowledge to maximise sales. You
work primarily in the book section of the Mumbai branch; however, all the branch staff work as a unified team
and therefore you are often required to work in other sections throughout the store. It is a Tuesday morning
and a colleague in the stationery section is away on sick leave. At 11 a. m. you are on your way to the
staffroom to take a quick tea break when, passing through the stationery section, you notice that it is in a
reasonable amount of disarray. Products have fallen on the floor and been left lying there, shelves are untidy
and some products are on the wrong shelves.
A)Inform the stationery team leader that there is aB)Take your tea break and then on the way back
problem with the presentation of the section quickly tidy up a few bits and pieces if it's still in a
state
C)Go back to your section and ask your team leaderD)Do nothing. The stationery team leader probably
whether you can be spared for 10 or 15 minutes to has it all under control and will deal with it soon. It is
help out in stationery. If agreed, offer your help to understandable that there is a bit of a mess as
the stationery team leader to quickly tidy up the area someone is away and you don't want to insult the
and take your tea break at 11.30 a.m. stationery team by mentioning anything

Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 19) (objection.aspx?qwr=3210134801&qgwer=19)

Question No. 20
INeifh JeF Shde arell 9gell AR Afgelr HleT A2
A)FUTH HAoorad B)ATSAT sigarel
C)wafr Afaeh D)AY A

Who was the first Indian women Olympic medal winner?

A)Karnam Malleswari B)Saina Nehwal
C)Sakshi Malik D)Mary Kom
Answer Key: A Your Response : D (Wrong) Raise Objection(Question No. 20) (objection.aspx?qwr=3210134801&qgwer=20)

Question No. 21
i et T&AT FT 35% 175 &, a9 175 I R1ET fhdel wfaerd ag d&r g
A)280% B)35%
C)65% D)286%

If 35% of a number is 175, then what approximate per cent of 175 is that number?
A)280% B)35%



C)65% D)286%
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 21) (objection.aspx?qwr=3210134801&qwer=21)

Question No. 22

I HT el

A)E15J5 B)H19K3

C)B13K9 D)L31S9

Find the ODD one out.

A)E15J5 B)H19K3

C)B13K9 D)L31S9

Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 22) (objection.aspx?qwr=3210134801&qwer=22)

Question No. 23
TF trEas 200 W Fr &5 24 (%3 F QU Far g1 waw i afy =
A)30 ferai/erer B)24 farefi/eer
C)20 farafierer D)28.5 fpafi/erer

An athlete runs 200 m race in 24 seconds. Find the speed of the athlete.

A)30 km/hr B)24 km/hr
C)20 km/hr D)28.5 km/hr
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 23) (objection.aspx?qwr=3210134801&qwer=23)

Question No. 24
100 #eT &t v &7 36 Rfi/der # afd ¥ T UF G UR FA H 25 FF3 ot g1 G F FOS AT
HifaT)
A)90 HIeX B)150 #Hrex
C)240 #ex D)144 #Hex

A train 100 m long running at 36 km/hr takes 25 seconds to pass a bridge. Find the length of the bridge.

A)90 m B)150 m
C)240 m D)144 m
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 24) (objection.aspx?qwr=3210134801&qwer=24)

Question No. 25



T a0 faeredt § | 39 HE=AT w0 qA S0 A 91 50 A e § v e (?) #:7

T 31|
114 ]4
16|09
1]19]|¢2

A |3 4

C 5 D. |6

Choose the number from the given options that would best replace the
question mark (?) in the figure below.

1 (4 |4

11619

11917
A |3 4
C 5 D. |6

Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 25) (objection.aspx?qwr=3210134801&qwer=25)

Question No. 26

e & dEansit &1 AT 33 § 3R 39T a7 15 &, dF §E 99 HEAr A9 F:{



A)12 B)9
C)24 D)15

If the sum of two numbers is 33 and their difference is 15, find the larger number.

A)12 B)9
C)24 D)15
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3210134801&qwer=26)

Question No. 27

Isgyfa i gg Hr A9y Sl ear 2
A)HRT & HET =grareier B)9eIeT #HAr
C)3ursgufa D)clih@e & 3regeT

Who administers the oath of office to the President?

A)Chief Justice of India B)Prime Minister
C)Vice-President D)Speaker of Lok Sabha
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 27) (objection.aspx?qwr=3210134801&qwer=27)

Question No. 28

AN-AVSH FHT TG F37 39T HlaAam §?
AFE B) e
C)3r=teis D)ersed

Which of the following is the largest satellite of the Solar System?

A)Sun B)Moon
C)Ganymede D)Titan
Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 28) (objection.aspx?qwr=3210134801&qwer=28)

Question No. 29
FREx+y+z=1,xy+yz+zx=-1, xyz=-18 ar x3 + y3 + 23 & AT AT A
A)3 B)7
C)4 D)1

Ifx +y+z=1,xy+yz+zx=-1, xyz = -1, then find the value of x° + y3 + Z°.

A)3 B)7
C)4 D)1
Answer Key : D Your Response : Not Answered Raise Objection(Question No. 29) (objection.aspx?qwr=3210134801&qwer=29)

Question No. 30



el & @ 37 3T & g7 A A" RBU v Yo w wEd =0

T/ T R 2
-l
o '
=] O
oO| O
A [0 B. ||
C. ||ON\O D O
O

Choose from the alternatives the figure that best completes the
pattern given below.

ol ?
m| O
o| 0
A © 0 B. ||H %0
c. ||m\o D. O
Cl
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 30) (objection.aspx?qwr=3210134801&qwer=30)

Question No. 31

AR & 1975 7 qost i ghhr faeg F9 Rrahr Foaeh & shar ar?



A)TedR Rig B)3tsfia arer e
C)gtsha fHie D)eRvTsiie g

India won the Men's Hockey World Cup in 1975 under the captaincy of-

A)Balbir Singh B)Ajit Pal Singh
C)Surjit Singh D)Charanijit Singh
Answer Key:B  Your Response : C (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3210134801&qwer=31)

Question No. 32

e T 7 v SleR Ferr Sirar 82
A)aTel B)3nf3am
C)usTe D) GIGEEIE

S

In which state is the Onam festival celebrated?

A)Kerala B)Odisha
C)Punjab D)Tamil Nadu
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 32) (objection.aspx?qwr=3210134801&qwer=32)

Question No. 33
T e Y I FRART A §U T Aol A g, "$0 AT H AN a5t $r 98 A ofy A 75T §'1 oW
T 39 Afgem & T HaT §7?
A)frar &1 o B)ar F 1S
C)arer D)arTe

Pointing to a man, a lady said, "The daughter of his only sister is the sister of my husband." How is the man
related to the lady?

A)Brother of father B)Brother of mother-in-law
C)Grandfather D)Son-in-law
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 33) (objection.aspx?qwr=3210134801&qwer=33)

Question No. 34



fAmfaf@d s & AR Yoo 1 wEuEiqEs 96 3R AT Re 70 W # 3o’ &1 37ER 3aed & () 7
¥ FH 55% I F WY Whaw @ (i) 1 &, 2017 B oA I 30 a ¥ FA AN A 3y 35
af & s € e =R (i) FaT RBuifSle & FT # 40000 FIT F P = F T F=R @1 (v) FA
¥ FA 3 af F FH F I @ (v) R-T olew F w7 & F7 50% 3F & 99 w1 (vi)
AFANT WETHR H A & FH 40% 3% A 99 fFar @ Iy 37fgar (i) F (vi) aF T 3T ATEs
U FAVC g ar 3¥ e Seam| R 3 A % SiEl 3Rficar Wl ATYEs F QU wane @ R () F,
AP 3T IRRA/AIRTH F AV IeTar & A yEuT F W-aw Hr Bl F wF & A 55% 3R B
ared fRar @, Y 3% AT A GM-THAT & I Hr gl Bt W A F Sl 3eicar |t ATaes @@t
R Far g Rare (i) ¥, AfT a7 1 aF F §vs W FFRR w9 F AT W™K F, @ 383F AHS F SVP-
eIl % 9 S gl AfE 3HficaR F Revoil FE gEer FA §, o 3§ oAed ST F w9 F AT ARl
AT HI S 14.03.1983 F G ATl 3H T TG 3 65% 3ieh 9red e §1 3¢ &+ 7 60% 3 3N
AT WEIHR & 48% 37% It §U &1 386 I 3 9§ FH HT 1 T g1 9§ 40000 FIC F F&l
Buiftie & s & v IR B

A)Zer e B)3Ficar I faged fham S afge

C)3¥HIcar &1 I AGT fhAT ST TheT & D)3FHcar & SVP-9daAd &l AT 89

Study the following information carefully and answer the question given below. The candidate must: (i) Be a
graduate in any discipline with at least 55% marks. (ji) Be at least 30 years and not more than 35 years as on
1 February 2017. (iii) Be ready to pay Rs.40000 as security deposit. (iv) Have work experience of at least 3
years. (v) Have cleared the written examination with at least 50% marks. (vi) Have cleared the personal
interview with at least 40% marks. In case a candidate satisfies all the other criteria from (i) to (vi), he/she
shall be selected. In case a candidate satisfies all the other criteria EXCEPT (i), but has secured at least 55%
marks in post graduate in Management with specialization in Economic/Statistics, the case is to be referred
as GM-Personnel. In case a candidate satisfies all the other criteria EXCEPT (iii), but is ready to sign a bond
of 1 year, the case is to be referred as SVP-Personnel. If there is any loss of information in the candidate
details, it should be treated as Data Inadequate. Kavita was born on 14.03.1983. She has secured 65%
marks in selection examination. She has also secured 60% marks in graduation and 48% marks in personal
interview. She has a work experience of 3 years. She is ready to pay Rs.40000 of security deposit.

A)Data inadequate B)The candidate has to be selected
C)The candidate cannot be selected D)The candidate has to be referred as SVP-Personnel
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 34) (objection.aspx?qwr=3210134801&qwer=34)

Question No. 35
RS o g e gU B 1 IR w0, "ag A Rar F P & 99 A 9= {1 B S0 § A wEa
Y,
A)ardr B) #1T8Y

1%

C)Ar D)siget



Senthil introduces Priya saying, "She is the wife of the grandson of the father of my father." How is Priya
related to Senthil?

A)Aunt B)Sister-in-law
C)Mother D)Sister
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 35) (objection.aspx?qwr=3210134801&qwer=35)

Question No. 36

g 4 e g 2




How many triangles are there in the given figure?

A 21 B 23
C 25 D. |27
Answer Key: B  Your Response : D (Wrong) Raise Objection(Question No. 36) (objection.aspx?qwr=3210134801&qwer=36)

Question No. 37
gl 8 qoul #r 3w 397 2 af & a7 9¢ Sl ¢ T 3T & ar |y S 39 21 af Ik 23 aF B, A
T W & AC I A 1 &Y AC qest Hr 37 FH g1 |
A)30 a¥ B)24 a¥
C)28 ay D)22 a¥

The average age of 8 men is increased by 2 years when two of them whose ages 21 years and 23 years are
replaced by two new men. Find the average age of the two new men.

A)30 years B)24 years
C)28 years D)22 years
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 37) (objection.aspx?qwr=3210134801&qwer=37)

Question No. 38
fawT weeT A, RE v Reredl & & waftra Fear 1 93 FY 13 : 19 = 2 : 31
A)26 B)29
C)21 D)23

Which number will best complete the relationship given below? 13:19:: ? : 31
A)26 B)29
C)21 D)23



Answer Key : D  Your Response : A (Wrong) Raise Objection(Question No. 38) (objection.aspx?qwr=3210134801&qwer=38)

Question No. 39
afg 582 & x% FT 15% = 17.46 giar g, ar X' & A AT HfSC
A)25 B)10
C)20 D)2

If 15% of x% of 582 = 17.46, find the value of 'X'.

A)25 B)10
C)20 D)2
Answer Key: C  Your Response : A (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3210134801&qwer=39)

Question No. 40
afy ey wEar #7 40% qEd e & A-AES & SO ¥, df Teelr & qEdr 6% & 9 1 U = §?
A2 : 5 B)3 : 7
C)7 : 3 D)5 : 3

If 40% of a number is equal to two-thirds of another number, what is the ratio of first number to the second

number?

A)2:5 B)3:7

C)7:3 D)5: 3

Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 40) (objection.aspx?qwr=3210134801&qwer=40)

Question No. 41

e & et 1 3T 3 § 3R 39F Feit #r HR 39 &, O I 9N & AT Ao
A)13 B)8
C)9 D)12

If the difference of two numbers is 3 and the difference of their squares is 39, then find the larger number.

A)13 B)8
C)9 D)12
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 41) (objection.aspx?qwr=3210134801&qwer=41)

Question No. 42

e & 7 e A o F T B 87
A)fsrer B)EdTd
C)erseiazst D)ier

The element of a heater is made of-
A)Nichrome B)Steel



C)Titanium D)Iron
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 42) (objection.aspx?qwr=3210134801&qwer=42)

Question No. 43

F AT & JEIAA ¥ 9fq Saecs &l
A)faure e B) s aaT
C)wT=Ta=T D)Irsa4Tel

Chief Minister of a state is responsible to the-

A)Legislative Assembly B)Rajya Sabha
C)Prime Minister D)Governor
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 43) (objection.aspx?qwr=3210134801&qwer=43)

Question No. 44

fmfaf@d st #t FauEigEs 96 AR A Re 7w woeT #1 5e) &1 v Belalvls = o el P Q)
R, 'S, T 3N 'U F A 9yqF W 6T §, afheT S8 51gF § & a8 s A & 90| g Aef@a adf &
IER R #1 FwH PUiRT war &, i) 38 'Q AR T F g 'P' W AT I ¥ i) 3 'S' ¥ S wwA
'Q' W IERT AT P i) N SerE Fef g% Swew a7 R’ E1 iv) 3/ 'S' F 9 T W A8 oew ¥ v) T 3k
'Q F T TF HIE g ATl BAadde, 'R F a1g T Tt F § FE o 51 whar §, R

A)U B)T

C)Q D)S

Read the following information carefully and answer the question given below. A deliveryman plans to visit
each of the six places 'P', 'Q’, 'R’, 'S', 'T" and 'U’, but not necessarily in the same order. He is setting up his
schedule for the day according to the following conditions, i) He must visit 'P' before 'Q' and 'T'. ii) He must
visit 'Q' immediately before 'S’. iii) The third place he visits must be 'R’. iv) He should not visit 'T" after 'S’. v)
There should be one place between 'T' and 'Q'". The deliveryman could visit anyone of the following places
after 'R' EXCEPT-

A)U B)T
Cc)Q D)S
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 44) (objection.aspx?qwr=3210134801&qwer=44)

Question No. 45

AT i FeT T §7?
Ay B)the
C)wIeR D)3

What is the currency of Burma?
A)Kyat B)Franc
C)Kroner D)Peso



Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3210134801&qwer=45)

Question No. 46

WP 3T Ao Rt @ aar §7?
A)TERTT & EETETT B)WehIr & 3T9dceT
C)JahIeT & WRIdcleT D)9ehrar & Yehrote

Why does the clear sky appear blue?

A)Interference of light B)Refraction of light
C)Reflection of light D)Scattering of light
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=32101348018&qwer=46)

Question No. 47
S LRI AYUROT A1 $r a7 & 2 auf 3F 2800 F9T g sy & 3w 5 auf & 3250 FUT & JA &1 =T Hr
R AT 72
A)4% B)2%
C)8% D)6%

A sum of money at Simple Interest amounts to Rs.2800 in 2 years and Rs.3250 in 5 years. Find the rate of
interest?

A)4% B)2%
C)8% D)6%
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 47) (objection.aspx?qwr=3210134801&qwer=47)

Question No. 48



fom T Freedt 7 ¥ 39 AT A A ST A ST e T e i v g (2)

T =T
A F 0
21 10 31U
12 15
C. |18 19

Choose the number from the given options that would best replace the

question mark (?) in the figure below.

21

10

19

Answer Key : B

$iesHr avE qEas Fea ford?

Your Response : Not Answered

Raise Objection(Question No. 48) (objection.aspx?qwr=3210134801&qwer=48)

Question No. 49



A) ISl ToTel B)s# & #1$ fashoy el
C)RemEafasT D)wrfeare

Who authored the book 'Indica'?

A)Abul Fazal B)None of the options
C)Megasthenes D)Fa Hien
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 49) (objection.aspx?qwr=3210134801&qwer=49)

Question No. 50
50 segF JTR T fqFar # 15 Aegd F AT HeT F A gar ¥ 3WH HJAMAT AT yfoRrd AT
Tl
A)43% B)25%
C)23% D)53%

By selling 50 notebooks, a vendor gains the selling price of 15 notebooks. Find his approximate gain per cent.

A)43% B)25%
C)23% D)53%
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 50) (objection.aspx?qwr=3210134801&qwer=50)

Question No. 51

AR & wfaereT $r JwdT qomelr ¥ forar omar ar |
A)aeTeT B)&d
C)fsreat D)TTees T 3t 3R

Parliamentary system of Indian Constitution was taken from-

A)Canada B)Russia
C)Britain D)United States of America
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3210134801&qwer=51)

Question No. 52

189 TRIAE Eal & THYA AR & ARG FT HlFar AT @S tasaes ar?
A) T wreTe B)IT=AT Ir#HITe
C)IET FIAST D)SeraT gferar

Which Indian sportsperson was India’s flag-bearer at the closing ceremony in the 18th Asian Games?

A)Vinesh Phogat B)Rani Rampal
C)Rahi Sarnobat D)Bajrang Punia
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 52) (objection.aspx?qwr=3210134801&qwer=52)

Question No. 53



e AR & fearfaf@a & & fFa v & Rua 32
A)faER B)3ff3er
C)ALT geer RyEric)

In which of the following states of India is Khajuraho located?

A)Bihar B)Odisha
C)Madhya Pradesh D)Rajasthan
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3210134801&qwer=53)

Question No. 54

aeT Ager P9 A4 F Ry T §7?
A) g B) I AT
C)a73er D)3am

Taj Mahal is built on the banks of the river -

A)Brahmaputra B)Yamuna
C)Narmada D)Ganges
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 54) (objection.aspx?qwr=3210134801&qwer=54)

Question No. 55

TS A FY $.872 F G W 9% F A7 AT PR 50 $.791 F 91 J1ar &, O & wfawra wr @en?
A)1.125% B)0.125%
C)2.125% D)2%

By selling a radio for Rs.872, the profit got is 9%. What will be the loss per cent, if it is sold for Rs.791?

A)1.125% B)0.125%
C)2.125% D)2%
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 55) (objection.aspx?qwr=3210134801&qwer=55)

Question No. 56
fArafaf@a & @ fraer R T & qeaed & &9 7 FF w0 7 B 82
A)P.V. RfaFeT @ B)ag HIEY
C)dgarEr D)ARRST &S

Who among the following has never served as a Chief Minister of an Indian state?

A)P.V. Narasimha Rao B)Narendra Modi
C)Chandra Shekhar D)Morarji Desai
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 56) (objection.aspx?qwr=3210134801&qgwer=56)

Question No. 57



e 21 T T AT AAT-AT AFEATEA T A= ZE@mm v 21 39 %o, o
97 F feAm a2, % fEadid werd 97 fG0 a0 ste iy @ i)

B E E E
A C D F

c. |C D. |55 @ F15 gl

Four different positions of the same dice are shown below. Find the
alphabet on the face opposite to that contains F.

B E E E

A |B B. D
C. |C D. |Noneof these
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 57) (objection.aspx?qwr=3210134801&qwer=57)

Question No. 58



el el & aEuEiqds 9§ 3R A Re 7w ma & 3e) &1 9fg - P, 'Q, R, 'S AR T
39t S, e, Riem, AN & o 3R 37 & v 9Rg § AT w0 a8 &F 3 3 w7 F &€ () P
AR R Raw a1 st F RAe gk & € (i) 'Q AR T Rudar a1 AN F adAGt & QAU gfdg T8 §1 (i)
57 3 Rawer &7 P & S AT & ¥ (iv) 'S’ 3R T T iR REwer F R g F&F F (v) 'S
Rem & AT yRg A€ 1 R T F=fef@d 7 & e @dvar § e afdg 82

A)dfEaT B)s¥
C)RET D)ET & i

Read the following information carefully and answer the question given below. Five cities—'P', 'Q', 'R’, 'S' and
'T" are famous for their garden, painting, education, pottery and scents, but not necessarily in the same order.
(i) 'P' and 'R' are not famous for education or garden. (i) 'Q' and 'T" are not famous for painting or pottery. (jii)
Scents and painting have nothing to do with 'P'. (iv) 'S' and 'T' are not famous for garden and painting. (v) 'S’
is not famous for education. City T is famous for which of the following features?

A)Painting B)Scents
C)Education D)Pottery
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 58) (objection.aspx?qwr=3210134801&qwer=58)

Question No. 59

39 fashed &7 999 7 51 <7 T2 w7 A9 =L afa=IT T FIGT1E A TE
99 % XY % |1 7= ST 2|

X

. @
|




Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

X

Y

Al B
C D.
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 59) (objection.aspx?qwr=3210134801&qwer=59)

Question No. 60
A T HT ATH SEo AAeIIg Fe T@T =T A1?
A)1969 B)1971
C)1970 D)1968

When was Madras State renamed as Tamil Nadu ?

A)1969 B)1971

C)1970 D)1968

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 60) (objection.aspx?qwr=3210134801&gwer=60)





